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2. This paper consists of fifty multiple-choice type of
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off

the paper seal / polythene bag on the booklet. Do not
accept a booklet without sticker-seal / without
polythene bag and do not accept an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within, the
period of 5 minutes. Afterwards,“neither the
Question Booklet will be replaced nor-any extra
time will be given.

(iii) After this verification is over, the OMR'Sheet Number
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
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on the correct response against each item.
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where (C) is the correct response.
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spaceuallotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
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disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.
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POLITICAL SCIENCE
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

1.

Paper-I1

questions are compulsory.

For Savarkar, what were the three

fundamental bonds that united the

Hindus ?

(A) Territory, Race, Culture.

(B) Territory, Population,
Sovereignty.

(C) Territory, Government and
International Recognition.

(D) None of the above.

The idea of Participatory democracy
originates with
(A) Aristotle
(C) Locke

(B) Cicero
(D) Rousseau

Plato describes the working of the

human mind by

(A) the allegory of the cave

(B) the metaphor of the divided
line

(C) the doctrine of forms

(D) All of the above

Who among the following regarded
Buddhism as a moral «<and tolerant
alternative to Marxism 2

(A) Ram Mohan Roy

(B) Vivekananda

(C) B.R. Amhedkar

(D) M.N. Roy.

John Rawls’  theory of Justice

combines

(A) ~People’s democracy, market
economy, and the redistributive
welfare scheme.

(B) Liberal democracy, command
economy and  distributive
justice.

(C) Liberal or associational
socialistic democracy, market
economy and the redistributive
welfare scheme.

(D) None of the above

6.
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Who among the following envisaged
the conflict of the present age as
between the all devouring collective
ego — whether of the nation or of the
class and the individual struggling
for freedom ?

(A) Gandhi

(B) M.N. Roy
(C) Aurobindo
(D) Ambedkar

Who differentiated between
antagonistic and non-antagonistic
contradictions ?

(A) Marx

(B) Lenin

(C) Mao

(D) M.N. Roy

Identify  the correct sequence
regarding the debate on the
decline/demise of Political theory.

(i) David Easton on decline of
Political theory.

(i) R.A. Dahl on death of Political
theory.

(ili) Riemer-Political theory is in
the dog house.

(iv) Peter Laslett on demise of
Political theory.

Select the correct answer from the
codes given below :

(A) (), (i), (i), (iv)
(B) (), (iv), (i), (iii)
(C) (i), (i), (i), (iv)
(D) (i), (i), (i), (iii)
S-02-13
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(A) (), (i), (iii), (iv)

(B) (i), (iv), (ii), (iii)

(C) (i), (iii), (i), (iv)

(D) (iv), (i), (ii), (iii)

Paper-I1



10.

11.

Paper-I1

www.sakshieducation.com

Match List — | with List — Il and
select the correct answer from the
codes given below :

List— 1| List— 11
(Authors) (Books)
a. D.Held I. Participation and
Democratic theory
b. J. Lively ii. Models of
Democracy

c. MacPherson iii. Democracy
d. C. Pateman

Democracy
Codes :
a b c d
(A) i i iii iv
(B) i iii iv i
(C) iii i i iv
(D) iv ii i iii

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : John Stuart Mill is
a reluctant democrat.

Reason (R) : All peoples are fit
for democracy.
Codes :

(A) Both (A) and (R) are true and
(R) is the right explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the, (.eorrect
explanation of (A).

(C) (A) istrue, but (R)is false.

(D) (A) is false, but (R) is-true.

Which of the following statements
are true of the British Parliamentary
system ?

(i) Parliament can make law on
any.subject.

(ii)o. The"Queen acts on the advice
of the Cabinet.

(iii) “The House of Lords can delay
a bill passed by the House of
Commons for two years.

(iv) The Cabinet functions on the
principle of collective
responsibility.

Codes :

(A) (i), (i) and (iii) are correct.

(B) (i), (iii) and (iv) are correct.

(C) (ii), (ii1) and (iv) are correct.

(D) (i), (ii) and (iv) are correct.

iv. The Real World of

12.

13.

14.

15.
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Match List — | with List — Il and
select the correct answer from the

codes given below :

List— 1| List— 11
(Electoral Process)  (Countries)
a. First-Past-the- i. Germany
Post system

b. Second Ballot ii. Switzerland
system

c. Additional iii. USA
member system

d. Party list system iv.France

Codes :

a b c d
(A) i iii ii v
(B) iii iv [ ii
(C) ii i v i
(D) iv ii iii i
Struetural-functionalism is primarily
(A)yc ameasurement for comparison
(B).. ‘an ideology of development
(C) a framework of investigation
(D)” a method of governance

According to S.P.  Huntigton

“Political Decay” takes place when

(A) Mass Mobilisation plus
participation is greater than
Institutionalisation.

(B) Mass mobilisation and
participation is lesser than
Institutionalisation.

(C) The Institutions have both
complexity and simplicity.

(D) There is longevity  of
Institutions.

Assertion (A) : The US Senate is
the most powerful second

chamber in the world.

Reason (R) : There are few
things which the President and
the House of Representatives
can do together without the
approval of the Senate.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (R) istrue but (A) is false.

S-02-13
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16. Which of the following pairs are 20. Ralph Miliband mewed the state as
correctly matched ? an instrument in the hands of the
(i) Dependency - Samir Amin ruling class. Which perspective of
theory comparative politics can he be placed
(i) Theory of : Lucian Pye under ?
Development (A) Structural
(iii) Theory of : Karl Marx (B) Feminist
Alienation (C) Instrumental
(iv) Theory of : Johan Rawls (D) Plural Socialist
Negative Liberty 21.  'Who among the following/was not a
Select the correct member of the Indian/ Canstituent
(A) (i), (i), (iv) are correct. Assembly ?
(B) (i), (iii), (iv) are correct. (A) Sir Firoz Khan'Nur
(C) (ii), (iii), (iv) are correct. (B) Sir Zafarullah Khan
(D) (i), (ii), (iii) are correct. (C) Dr. Jay.Shankar
(D) Jai Prakash Narayan
17. Which of the following are the 22.  The‘Drafting Committee member of
common features of India and U.K ? the *Constituent Assembly said that
(i)  Supremacy of Parliament Governor nominated by the President
(i) A written Constitution will "be the agent of the Central
(iii) Bicameralism Government. ldentify
(iv) Prime Minister is the leader of (A) T.T. Krishnamachari
the largest party on the floor of (B) B.R. Ambedkar
the House. (C) Sardar Vallabhbhai Patel
(A) (i) and (ii) are correct. (D) Rajendra Prasad
(B) (ii) and (iii) are correct. 23. Match List — | with List — Il and
(C) (iii) and (iv) are correct. select the correct answer from the
(D) (i) and (iv) are correct. codes given below :
List—1 List—11
18.  Which among the following defined (Books) (Editors/
the electoral law as— “The majority ~Authors)
(plurality) single ballot system that a. Development i. Anthony D.
tends to a party ‘dualism”. Planning and the Smith
(A) Duverger’slaw Indian State. N
(B) Rae/Riker proposition b. India . . T.V.
(C) Sartori’s tendency law Glgb?]llzatlon Satyamurthy
(D):.Cox’s coordination argument c. ?r?duit?ynge and iii. Pamela
19. Which one of the following th_eories ,Ibr\]%rig:ulturesmég gkr:]uimwer
developed by the European thinkers independence
came under the active discussion of d. Theories of iv. Partha
social scientists in the US in the Nationalism. Chatterji
fifties ? Codes :
(A) Communications theory a b ¢ d
(B) Elite theory (A) v i
(C) Structural functionalism E(B:g ';’ ili iI\I/ :::
(D) Decision-making theory (D) i i iv i
paper-11 www.sakshieglucation.com BEEE
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Match List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List— 11
(Chief Ministers (Governors
dismissed) responsible)
a. Ajay Mukherjee i. Gopala
Reddy
b. Charan Singh Ii. Jagmohan
c. N.T.RamaRao iii. Dharam Vira
d. Farooq iv. Ram Lal
Abdullah
Codes :
a b C d
(A) iv i i iii
(B) i iv il i
) i iii i iv
(D) iii i iv ii

Which of the former presidents was
associated with the Trade-Union
Movement in India ?

(A) K.R. Narayanan

(B) Dr. Zakir Hussain

(C) V.V.Giri

(D) Rana Swami Venkat Raman

In which state of India seat is
reserved in the Legislative Assembly
on religious basis ?

(A) Goa
(B) Mizoram
(C) Sikkim

(D) Jammu and Kashmir

“Communalism is the political

assertiveness of a community to

maintain its identity in a plural

society undergoing modernization”.

Who among the following has given

the above mentioned statement ?

(A) Robert Melson and Howard
Wolpe

(B) William Riker

(C) Mark Robinson

(D) Charles Metcalfe

28.

29.

30.
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Which of the following is the correct

explanation of regional parties ?

(i) The democratization of state
structures and political
practices.

(i) The resurgent articulation of
local and regional interests in
the wake of the retrenchment of
the welfare state and turn to
neo-liberalism.

(ili) The modernizatiop= paradigm
defined regions as Spatial units.

(iv) The politicization ,of minority
nations. (nations'without states)

Codes :

(A) (i), (if)y'and (iii) are correct.

(B) (ii)(iit).and (iv) are correct.

(C) “ (i),.(i1) and (iv) are correct.

(D)-.(1), (i) and (iv) are correct.

Inf‘whose book caste has been defined
as “endogamous group on collection of
endogamous groups bearing a common
name, membership of which is
hereditary, imposing on its members
certain restrictions in matter of social
intercourse, either  following a
common traditional occupation or
claiming a common origin, and
generally regarded as forming a single
homogeneous community”.

(A) M.N. Srinivas

(B) Bipin Chandra

(C) E.Blunt

(D) Zoya Hasan

Who has given the following
statement in reference to India ?
“There three forces (computing forces
of nationalism, regionalism and
globalism) are relative to and
overlapping with  one another,
sometimes antagonistic and sometimes
co-operative towards each other but
never harmonious.”

(A) Rumki Basu

(B) Arie M.M. Kacowicz

(C) Sanjay Basu

(D) Jagdish Bhagwati

S-02-13
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24. g — | = g — || F T e Fife

3 A 5T T il § § Tal SR Y
= - | =it - 1
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L))
a. 3T qEs i, TITeT YgEt
b. =Rur e ii. SR
c. TAI. THRE iii. o7 AR
d. weg Fgoet iv. THATA
S
a b c d
(A v i i i
B) i v Qi i
©) i i i v
D) i i v i
25. THAMiEd § § {69 Teeuid @ gey
R o € A TR F o1 ?
(A) .3, AREUH
(B) . TR gaA
(C) dtar fiit

(D) T W@ g T

26. 9RA & [H9 T H faum @ g e
H1fier TR 9T SRfE 2l 2

(A) T

(B) FIRH

(C) fafwrm

(D) ST &RHIIR

27. “THRGHAT YD H kAT o
TR, U AT SEeTaTsl qHST B SO
TEAH HEH Y& & w5 aqgme @
AT TR SRR € 17 ST o
Tt 5 9 forgeh € 2
(A) e Bog 3R &eS ey
(B) faferaw e
(C) T Ul
(D) =g HEHEH
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(C) (i), (ii) 3T (iv) e & |
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R e T € -

“3ATgaTel e A1 alaarl Teads, S

T ST A &, S AR T H 36 9

&% T &, S GrTtSteh ek o T 7 30

TR W P U O, TN & ST Gy

S0 I U B T AT A I TH

T Y91 310 3T G ) 0 U &

TSI G H ST 7 ST 17

(A) THTA. sifera

(B) fafm =i

(C) = =i

(D) S EEe

IR G5 | T=teiiad e e € 2
‘AT vfEr (AR, g 3R
YHESAHOT H WER  Uldggl  Iferm)
feTE € SR UHGE w el H
AT A 3 T S e A
ST QrESTE T R e 17

(A) THH TG

(B) T wHUH. Hhifaw

(C) Ty

(D)  STTETST STaet
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Which one of the following describe
administration as “the organisation
and direction of human and material
resources to achieve desired ends” ?
(A) H.A.Simon (B) L.D.White
(C) J.A. Veig (D) J.M. Pfiffner

“Good governance” and
“Participating Civil Society for
Development” mere stressed in
World Bank Report of

(A) 1992 (B) 1997

(C) 2000 (D) 2003

If the administrative authority within
a department is vested in a single
individual, then that system is known
as

(A) Commission (B) Council
(C) Bureau (D) Board

Audit of State Government is
(A) A state subject

(B) A union subject

(C) Inthe concurrent list
(D) None of the above

The rule of Lapse means

(A) All pending bills in Parliament
lapse with its propagation.

(B) The demand for/grants of a
ministry lapse.with criticism of
its policy by the“opposition.

(C) All appropriations voted by the
legislature expire at the end of
the financial year.

(D). The appropriation bill lapses if
it is not returned by Rajya
Sabha within 14 days.

A new All India Service can be

created by

(A) An amendment of the
Constitution

(B) A resolution under Article 312
of the Constitution

(C) An executive order

(D) A statute

37.

38.

39.

40.
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Match List — | with List — Il and
select the correct answer from the
codes given below :

List— I List—11
a. W.F. i. Principles of
Willougby Organisation
b. Mary Ii. Industrial
Parker General
Follet Management
c. Mooney iii. Principles  of

And Reiley Public
Administration
d. Henri Fayol iv. Creative

experience
Codes :
a b c d
(A) iv I ii iii
(B) i, iV [ ii
(C) “.i ii iv i
(D)o i i [ iv

Which of the following is not an All
India Service ?

(A) Indian Police Service

(B) Indian Administrative Service
(C) Indian Forest Service

(D) Indian Foreign Service

Who developed the concept of
“Managerial Grid” ?

(A) Blake and White

(B) Mouton and Shophan

(C) Blake and Schmidt

(D) Blake and Mouton

Which one of the following is not a
provision to ensure the independence
of UP.S.C.?

(A) The Chairman and member
hold office for a fixed term.

(B) A member may be removed
only by the President and that
too on the grounds and in
manner  provided in the
Constitution.

(C) The expenses of the
commission are charged on the
consolidated fund of India.

(D) A member on the expiry of his
term is eligible for re-
appointment for other
governmental jobs.
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fratafiad 5 9 fohem oo i “aTuterd
T YT Hi o (AT AFeg e Hifaew
T o W R FRvE” % w9 A
et femam & 2

(A) TIT GEEA (B) Ul =R
(C) Smwam (D) Uy, U

fFg ATt o fova o ROie H§ “geme”
AR “fo & o fafaer demet ®t
TEHIATAT” 0 et T T o1 2

(A) 1992 (B) 1997

(C) 2000 (D) 2003

et foamT o TS SRR afE U
&1 AT H i &l dl JOTell heerr &
(A) = (B) uRwg
(C) = (D) =g

T TIHN T 0T &
(A) TF & fou
(B) &% I fawa
(C) wqadt gt 1 faw=
(D) S H § HiE el

319ty T (Lapse) o a8 %1 39 &

(A) O H ot srfuia fadds-gm
T % A1 & GF 8L S &1

(B) TAGI & STIH L W1 foRyet
el R SWehl . Aifqdr @t
ST X o I TE & St & |

(C) fourves gRe dle fhu Mo o+
Tttt ad & ofd o gur
AT |

(D). TofEm fadas &t A T
TR 14 fo71 & 31T a9 = witeran
ST A 9 5% 81 S e |

fraffed & @ fo9® 3R TH JEH

ARGt TR YT ST T ST Fehell € 2

(A) Fioam-Heme e

(B) WOgM % 3T 312 & ded
TS TR

(C) SITH®T TR 5RT

(D) A 5T
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Frm S

-1 =it - 1
a. T, i. ffgue e
%“ Jiial
b. T 9T ii. Sefeae SFRe
Hiele T
c. FHuEdW iii. bfauew 3w
YiscTeh
It )
d. AT iv. fpufea
TeRITH
e
a b C d
(A) v An eii i
(B) i v i
€) *. it v i
(D) i i i iv

frafafed 4 9 o9 9@ fEed yra
e T & ?

(A) YREE Yferd Qe

(B) YR WRIE Qe

(C) YRA™ &= gar

(D) YRAE foeer dar

“USYeh IS Sl TN e & ?
(A) =F R TS
(B) W 3T IMEA
(C) =ik iR forfie
(D) =% AT A

frafafed & 9 9 91 woyE 99 ¢

[T AT B TN Sl GHRed Tél

AT ?

(A) STERT HT T R IYh T
gﬁfsﬂﬁaqaﬁqﬁamﬁq‘c(w

(B) aﬁéwwmmﬁ
T U ¥ TS ST AT & AR
T ot Gy § & 78 fat g |
(C) 3N 1 @Y 9RA I THfhd
iy @ ferr st & |

(D) =FE T WM TAE B W

~

I H{'Jbl{l "||°h|'{¢|| ﬁ Yl ad
T U I @A |
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Match List — | with List — Il and
select the correct answer from the
codes given below :

List -1 List—11
(Emphasis) (Theories)
a. Security i. Liberalism
b. Freedom ii. International

Political
Economy
c. Orderand iii. Realism
Justice
d. Welfare iv. International
Society
Codes :
a b c d
(A) i iv i i
(B) i i i iv
C) i i iv iii
(D) iv i iii i

With which approach broadly would
you associate the following statement :
“All power requires knowledge and
all knowledge relies on and reinforces
existing power relations” ?

(A) Normative theory

(B) Empirical theory

(C) Postmodernism

(D) Post-behaviouralism

Assertion (A) : As pers dependency
model under” development is
caused by the.factors external
to the peor.countries.

Reason (R)*...: Developing world
countries are dominated by
foreign capital interests
originating in developed west.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

44,

45,

: . (D) v
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Match List — | with List — Il and
select the correct answer from the
codes given below :

List -1 List— 11
(Trans National (Country)
Corporation)
a. Toyata i. USA
b. General ii. Japan
Electric
c. Nestle iii. Switzerland
d. Electrolux ive.Canada
Codes :
a b c d
(A) iv i i i
(B) iii \Y] i i
(C). i i iii iv
(D) i i iv i
Match List — I with List — Il and

Select the correct answer from the
codes given below :

List—1 List—11
(Regional (Head
Economic Quarters)
Commission)

a. Economic i. Switzerland
Commission
for Europe
b. Economic ii. Ethipoia
Commission
for Africa
c. Economic iii. Chile
Commission
for Latin
America
d. Economic iv. Iraq
Commission
for West Asia
Codes :
a b c d
(A) i i iii \Y
(B) i i iv i
C) i i iv iii

ii I i
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41. g - | = gE - 1l % WY gHfed

ST T2 A= KU T Hie § Tl W
T
=i - | = - 1
(FEa) (Regier)
a. gu@T i, SERAER
b. T ii. R
RSEIIRED
e
C. STARTE  iii. qAAR
T3
d. eamT iv. TR TS
S
a b c d
(A Qi ivoi i

B) i i i v
©) i i v il
O) iv i Qi i

42. TEfciEd e ® T fma dgiae
UM § Gog T
‘&Y IS o feTT I STevah € T &Y
I s vf-dedt WO g &
3T 3¢ TN AT 87 2
(A) T=E fasid
(B) smHiae faaia
(C) SR-3MYFHaEs
(D) STR-FERRAE
43. afumes (A) ; et diew &
3R, TR 39 § 37eq-faha &
FHRE, Ivd, Fargd <9 § TqeT
FHReb A B € |
Ear () : faprEier o W
oyt faeftad Iw & faset
ISTioRah fedll b TeJed BT ¢ |
aﬁg-.

(A) (A) @ (R) qHT @6t € 3R (R),
(A) FT TET TEHTE |

(B) (A) @ (R) &I @l € 3R (R),
(A) T TE TILHT TE ¢ |

(C) (A) Wl g, W (R) o ¢ |

(D) (A) 7o &, I (R) & € |
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44, A — | H G — |l F g g

I 1 = ST 7T e H F Fat ST
M
=t - | =it - 11
(ZT =9 ()
HTIRIE)
a. a3 i JUET
b. SR TelfRe® i, STUH
c. iii. fatesters

d. oler Ve PRITET
B

(A) iv i vl

(B) iiiewiv i i

©) diina i i v

(D) i i v i

455, FE — | W gE — | % we gl

FHIT T A 5T T e & T IW
ERLE
=t - | =t - 11
(TSt ghiATHE (EATe)
FHHIE)
a. SIS i. fEesere
HHIH HIT
ERL
b. THMAIHE ii. sforaifoan
FHHYE B
FTRIeHT
C. THAIH iii. et
HHIIE BT
wife e
d. SHHE iv.
HHIH HT
I TR
e

a b c d
(A) i i iii iv
(B) i iii iv i
C) i i iv iii
(D) iv iii i i
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Commenting on the importance of
the Himalayan frontier on Indian
Foreign policy which one of
following leader said “If it is
breached, the way to Indian Plains
and Indian ocean beyond would be
exposed and threats and India would
then like wise, be threat to other
countries of South and South east
Asia.

(A) Prime Minister Indira Gandhi

(B) Prime Minister Lal Bhadhur
Shastri

(C) Prime Minister Rajeev Gandhi

(D) Prime Minister Pt. Jawahar Lal
Nehru

The CECA (Comprehensive
Economic Cooperation Agreement)
was formally announced to bost
bilateral ties between

(A) India - Vietnam
(B) India - Myanmar
(C) India - Malaysia

(D) India - Singapore

The “Indo=Nepal Treaty of Peace and
Friendship (1950)” is being criticised
by.Nepali Maoist because

(A) Unequal Treaty

(B) Rising Assertion of Nepali
Identity

(C) Policy of equidistance with
China

(D) All of the above

49,

50.
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Which one of the following leaders
did not participate in four continent
peace initiative of nuclear
disarmament of 1984 ?

(A) President Raul Alfonsin

(B) Prime Minister ~ Andreas

Panpan Andreas
(C) Prime Minister Indira Gandhi

(D) President Zia-ul-Haq

Assertion (A)  Although China has
invested> large capital in
Rakistan projects exclusively in
the: Gwadar harbour yet
Chinese  reconsider  their
policies which has led to a
reduction in the importance
enjoyed by Pakistan.

Reason (R) : Apart from
available huge opportunity of
selling Chinese goods in Indian
market, the growing tentacles
of Islamic fundamentalism in
Xingjiang with the
collaboration of the Taliban
and Al-Qaeda have pushed
China to reconsider its South
Asian Policy.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.
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46. ¥RA i faeer Aifd W EweT & deid &

o Hewd W ool ed gu foh e 7 %
FeT o1 foF “afs gaet fashavT feham STren
£ @ 9RA & HEET 9T 9 9FROR O
G & S SR T9 ARG W HSIH
el Wl FhRIT Y IheTu-gd uivEn %
M W off BT ST |

(A) e T Sfr e

(B) W Tl el SRTgT I

(C) e Tt T el

(D) VEM Hl STETEY T EE

T 31 o1 o o fgueft deei =t e
% o0 @ T | U (R SRS
HITRIE THE) i Ao =wor
T ?

(A) IR — o™

(B) 9Rd — HER

(C) 9RA - Teifern
(D) WRd — femge

(1950)" <t STET=AT HuTeT o ATt
gRT {5 HROT F ! Sl € ?

(A) 39U iy

(B) HUTel STRET T g g3 Jral
(C) =H ¥ THE g il A

(D) Swg wf

49.

50.

Fffad o & 769 a1 5 99 1984 |
AT ofvgs  FREEET 9’
HETRRIT T Ueet § | el fora ?
(A) AT TIA TR

(B) e T UGS o Ug

(C) e it gty wrielt

(D) Ul ~ET-3e1-8h

A (A)e s I A TIfREHT
RS, W TEER SEUE,
TSty g Td {1, aumy
T T 3O 37 At W AR
e ek HROT UIfhEa™ W
e arel Hewd B ST 37 off |

: ORAE 9NR H 9T

T ¥ S A7 g
FEIAEE & et g€ STet = A=
H AE SRAULERET A W
JATIIR A S a1 foRar |

S

(A) (A) 3R (R) 31 Ter € T (R),
(A) T TE TEHT E |

(B) (A) 3R (R) aHi @&t & = (R),
(A) T TE TILHT TE ¢ |

(C) (A) T e, =< (R) T € |

(D) (A)Terd & W (R) Wl & |
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